
NOV2012

IPCC
GROUP.IPAPER"
COSTACCOUNTIN.
ANDfiNANCIAL8WIAIDIi1If

Total No. of Printed Pages - 16

pCB

RollNo. Group-It Paper-4""""'Cc;st'1\cCO1l'otin! AD4

Total No Of Qu
F
t
inancial Management

. es IOns- 7

Time Allowed - 3 Hours Maximum Marks - 100

FSM-H
Answers to questions are to be given only in English except in the case of candidates who have

opted for Hindi Medium. If a candidate has not opted for Hindi medium, his answers in Hindi

will not be valued.

Question No.1 is compulsory.

Attempt any five questions from the remaining six questions.

"Working notes should form part of the answer."

.

1.

Marks

Answer the following: 4x5
=20

(a) X Limited has estimated that for a new product its break-even point is 20,000

units if the item is sold for ~ 14 per unit and variable cost ~ 9 per unit.

Calculate the degree of operating leverage for sales volume 25,000 units and

30,000 units.

(b) Accountant of your company had computed labour turnover rates for the

quarter.,ended 30thSeptember, 2012 as 14%, 8% and 6% under Flux method,

Replacement method and Separation method respectively. If the number of

workers replaced during 2ndquarter of the financial year2Ql2-p is 36, find
the following: ' ,

(i)

(ii)

The number of workers recruited and joined; and

The number of workers left and discharged.

(c) X is invested ~ 2,40,000 at annual rate of interest of 10 percent. What is the

amount after 3 years if the compounding is done?

(i)

(ii)

Annually

Semi-annually.
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(d) KL Limited produces product 'M' which has a quarterly demand of 8,000

units. The product requires 3 kgs quantity of material 'X' for every finished

unit of product. The other information are follows:

Cost of material 'X' ~ 20 per kg.

~ 1000 per orderCost of placing an order

Canying Cost 15% per annum of average inventory

You are required:

(i) Calculate the Economic Order Quantity for material 'X'.

(ii) Should the company accept an offer of 2 percent discount by the

supplier, if he wants to supply the annual requirement of material 'X' in

4 equal quarterly instalments ?

2. (a) The following account balances and distribution of indirect charges are taken

from the accounts of a manufacturing concern for the year ending on

31st March, 2012 :

8
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Total
ProdQctionDepartments

Service
Item Amount nepartments

, () X () Y () Z (f) A (f) B (f)
Indirect Material 1,25,000 20,000 30,000 45,000 25,000 5,000

Indirect Labour 2,60,000 45,000 50,000 70,000 60,000 35,000

Superintendent's Salary 96,000 ,96;000
'

- - - -

Fuel & Heat 15,000

Power 1,80,000

Rent & Rates 1,50,000

Insurance 18,000

Meal Charges 60,000 j

Depreciation 2,70,000
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The following departmental data are also available:

Expenses charged to the service departments are to be distributed to other

departments by the following percentages:

Prepare an overhead distribution statement to show the total overheads of

production departments after re-apportioning service departments' overhead

by using simultaneous equation method. Show all the calculations to the

nearest rupee.

(b) The following accounting information and financial ratio~of M Limited relate

, to the yearended31st March,2012:

8

Inventory Turnover Ratio

Creditors Turnover Ratio

6 Times

10 Times

Debtors Turnover Ratio 8 Times

Current Ratio

Gross Profit Ratio

2.4

25%

FSM-H P.T.O.
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Production Departments
Service

Departments

X y Z A B

Area (Sq. ft.) 4,400 4,000 3,000 2,400 1,200

Capital Value of

Assets () 4,00,000 6,00,000 5,00,000 1,00,000 2,00,000

KilowattHours 3,500 4,000. 3,000 1,500 -

Radiator Sections 20 40 60 50 30

No. of Employees 60 70 120 30 20

X Y Z A B

DepartmentA 30 30 20 - 20

Department B 25 40 25 10 -
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Total sales ~ 30,00,000; cash sales 25% of credit sales; cash purchases

~ 2,30,000; working capital ~ 2,80,000; closing inventory is ~ 80,000 more

than opening inventory.

You are required to calculate:

(i) Average Inventory

(ii) Purchases

(iii) Average Debtors

(iv) Average Creditors

(v) Average Payment Period

(vi) Average Collection Period

(vii) Current Assets

(viii) Current Liabilities

(a) Following are the summarized Balance Sheets of JKM Limited as on

31stMarch, 2011 and 2012:

12

(~ in Lakhs)
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31stMarch 31stMarch
Liabilities 2011 2012 Assets

'
2011 2012

() () () ()
Equity Share Capital 50.00 55.00 Goodwill 5.00 4.20

Capital Reserve - 2.50 Land & Building 20.00 18.00

General Reserve 4.00 6.00 Plant & M.achinery' 22.00 31.00
:

Profit & Loss Account 5.30 6.70 Investment. 2.00 3.50

Proposed Dividend 8.00 11.00 Stock 8.60 12.70

Bills Payable 2.00 1.80 Sundry Debtors 10.20 13.00

Sundry Creditors 3.50 4.60 Bills Receivables 1.00 0.70

Provision for Tax 4.00 5.00 Cash in hand & Bank 7.20 8.90

Share Issue Exp. 0.80 0.60

76.80 92.60 76.80 92.60
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Additional Information:

(i) A machine (original cost ~ 2,80,000; Book Value ~ 1,70,000) was sold

during the year for ~ 1,50,000.

(ii) Depreciation for 2011-12 was amounted to ~ 3,00,000 on plant and

machinery and ~ 50,000 on land and building.

(iii) A piece of land had been sold out on 01-11-2011 and the profit on the

sale has been credited in capital reserve.

, (iv) ~ 40,,000 is received as dividend including ~ 15,000 pre-acquisition

profit, which is credited to investment account.

(v) An interim dividend of ~ 2,50,000 has been paid during the year

2011-12.

(vi) Income tax paid during the year 2011-12, amounted to ~ 3,80,000.

Required:

(A) Prepare a schedule of changes in the working capital.

(B) Preparefundsflowstatementas on 31st March, 2012. ,

(b) From the following particulars compute a conservation estimate!of profit by

4 methods on a contract which has 80 percent complete:

4

~

Estimate further expenditure to complete the contract

I 8,50,000

1,70,000

Total expenditure to date

Contract Price 15,30,000

10,00,000Work Certified

Cash received

85,000

8,16,000

Work not certified
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4. (a) The standard labour employment and the actual labour engaged in a 40 hours

week for a job are as under:

6

Actual output: 1800 units.

Abnormal Idle time 2 hours
in the week

Standard output: 2000 units;

Calculate:

(i) Labour Cost Vmiance

(ii) Labour Efficiency Variance'

(iii) Labour Idle Time Variance.

SS Limited is considering the purchase of a new automatic machine which

will carry out some operations which are at present performed by manual

labour. NM-A1 and NM-A2' two alternative models are available in the

market. The following details are collected :

(b)

Cost of Machine

Estimated working life

(~)

NM-Al

20,00,000

5 Years

Estimated saving in direct wages per annum (~)

Estimated saving in scrap per annum (~)

Estimated additional cost of indirect material

7;00,000

60,000

per annum

Estimated additional cost of indirect labour

(~) 30,000

per annum

Estimated additional cost of repairs and

(~) 40,000

maintenance per annum (~) 45,000

FSM-H
\.'

.,.
1

Machine

NM-A2

25,00,000

5 Years

9,00,000

1,00,000

90,000

50,000

~ 85,000

10

Standard Actual
Category of No. of Wage No. of Wage

Workers
workers Rate per workers Rate per

hour hour

Skilled 65 45 50 50

Semi-skilled 20 30 30 35

Unskilled 15 15 20 10
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Depreciation will be charged on a straight line method. Corporate tax rate is

30 percent and expected rate of retulllmay be 12 percent.

You are required to evaluate the alternatives by calculating the:

(i) Pay-back Period

(ii) Accounting (Average) Rate of Return; and

(iii) Profitability Index or P.V. Index (P.V. factor for ~ 1 @ 12%

0.893; 0.797; 0.712; 0.636; 0.567; 0.507)

Briefly explain the essential features of a good cost accounting system. - 4x4
=16

What is inter-process profit? State its advantages and disadvantages.

What do you understand by operating costing? How are composite units

computed?

(d) List,the fundan1entalprinciples governing capital structure.

(a) The following figures are related to LM Limited for the year ending

31stMarch, 2012 :

8

Sales - 24,000 units @ ~ 200 per unit;

P/V Ratio 25% and Break-even Point 50% of sales.

You are required to calculate:

(i)

(ii)

Fixed cost for the year

Profit earned for the year

(iii) Units to be sold to earn a target net profit of ~ 11,00,000 for a year.

(iv) Number of units to be sold to earn a net income of 25% on cost.

(v) Selling price per unit if Break-even Point is to be brought down by

4,000 units.
FSM-H P.T.O.
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5. (a)

(b)

(c)



R Limited showed a net loss of ~ 35,400 as per their cost accounts for the year
ended 31stMarch, 2012. However, the financial accounts disclosed a net profit

of ~ 67,800 for the same period. The following information were revealed as a
result of scrutiny of the figures of cost accounts and financial accounts:

~

25,500

1,35,000

26,000

20,000

16,800

43,600

13,600

(8)
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(b)

(i)

(ii)

Administrative overhead under recovered

Factory overhead over recovered

Marks

8

1,65,000
1,45,000

1,25,500
1,32,000

25,000

60,000

15,000

Answer any four of the following: 4x4

(a) Discuss the conflicts in profit verses wealth rnaximizatiori' principle of the =16
firm. .

7.

(iii) Depreciation under charged in Cost Accounts

(iv) Dividend received

(v) Loss due to obsolescence charged in Financial Accounts

(vi) Income tax provided

(vii) Bank interest credited in Financial Accounts

(viii) Value of opening stock:
In Cost Accounts
In Financial Accounts

(ix) Value of closing stock:
In Cost Accounts
In Financial Accounts

(x) Goodwill written-off in Financial Accounts

(xi) Notional rent of own premises charged in Cost Accounts

(xii) Provision for doubtful debts in Financial Accounts

Prepare a reconciliation statement by taking costing net l()ssas base.

(b)

(c)

(d)

(e)

State the considerations on which capital expenditure budget is prepared.

Distinguish between business risk and financial risk.
What are the forms of bank credit?

"Financing a business through borrowing is cheaper than using equity."

Briefly explain.

FSM-H
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(Hindi Version)

&:r~~~~fRT~TfITt m~~~ 3R.qitt=n"t I

Cffl"~ f;rn;t fRT ~ ~ TfITt * fRT-q~ t;r t,

m~fRT-q~Tl<t~Cf?T ~~i~-1~Wrr I

~msml~tl

~'3": m-q~~1:iTT.Tm~~~ I

~ rGU-fful~i(Working Notes) ~~'1WT~~ I

Marks

j
1. r-1~r<1r~<:1~~~: 4x5

=20
(:31) ~ r<1r~~$~~~~~~~tfcp*~~ ~.14~~-q

~~, yRCt~-1~[)(1<1"JlTIi ~ 9 ~ ffit m, ffi~ w:r-~ ~ 20,000 ~
WIT I 25,000 ~ or30,000~ ~~ ~~ yR'I:!I(1-1o\1l(1~coTl1BITmff

~I

(~) 30 r~<:1~~, 2012 ~ ~ ~ cmft fu1mft~ ~ ~ ~ ~ 0~IYI(1 ~

~ICtI~I~-1(tffiCR1)m, ~r<:1~IY-1m ~ ~~Cf':t?~UIm~ ~~: 14%,8%or

6% JWi~ ~ yR~r(1<:1coTt I* M<:r Cf't2012-13coT~fu1mft ~ ~

~r<:1~IfY<:1~ coTmsm 36 m, ffi r-1~r(1r~<:1coTTfURT~ :

(i) '11ffi3& q?p11VwR ~ ~ coTmsm; 3&
,

(ii) ~1~~'*1~ Tl<t~ ~ ~ Tl<t~ coT~ I

(~) ~ ~ 10 ~ ~ ~ ~ 1V ~ 2,40,000 Cf?T rCtr-1~l~1 %"<IT t I 3 Cf't ~ coT
\

'Ufu cp;ffMT * TfURT'I:!9t>~r~ t ?

(i) ~

(ii) ~-~

FSM-H P.T.O.
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(C::) ~~ r~[y~~ '~' ~cnr~~t~ ~yil~cp11Trr8,000~t I~

~cir~~~~~ 'X' ~cir 3Icp~I!-IIY-qr;ncir-3ilcF~<.jcpc11mmtl

3B:f ~ r1+-Jr~r~c1 t :

X ~ cirffiTT(i

~ ~ ~ cirffiTffi

~ 20 >1fu rcp~I!-IIY

~ ffiTT(i

~ 1000>1fu ~

~ ~ cirffilTff cnr 15% ~

~~Wft:

(i) ~x~~~~-qr;ncirTfURT I

(ii) ~ ~cp\11~ X cir~ -3i1~~<.jcpc11cit 2%~ -err4 ~ ~ylf~cp~

ifrffiT~~m~~cit~~~~Wn~ ?

2. (~ 31~, 2012cit~cm~~r-1+-JrMr~c1 m~~ am-~~~cnr~

~Rmuft~ ~~-~ ~ m ~ t:

8
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¥-m-r -:SIt\"1 ftrmrT
.

() X () Y () Z () A () B ()'
1,25,000 20,000 30,000 45,000 25,000 5,000!

,

s;m 2,60,000 45,000 50,000 70,000 60,000 35,000

cnr<t=R 96,000 - - .96,000 - -

0
15,000

'
qorq I

1,80,000

fcnwIT q -e;t 1,50,000

in:rr 18,000

60,000

0ffi 2,70,000
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1~~I(1I~d ~ ~.qj- ~ t :

Marks

it
.:

~ fcrqrTIT~ ~ 3A fcrqrTITCbtl-i~ I~ 1($1d ~Id:(Id1 ~ rnT fcrffim~ ~ :

I
r ~A

L~B

X Y Z A B
30 30 20 - 20

25 40 25 10 -

J
II

Ii

~ ~ ~ ~l.IR~t.l1Cbt~ o/;-i~lcn(UIf1fu~ 1ff:fcrffim~ §Q:~ fcrqrTIT

~~ ~l.IR~t.I~ §Q:~ ~l.IR~t.I~ ~ tJ;f~ I ~ ~ I~cnc.d~

~~~I

(~) 1-1~I(1I~d ~($Iicn-1~ ~ ~ ~ 31 11Rf,2012 Cbt~ ~ crIBcrt ~

~ ~ 1(11~~-Scttt :

8

~ ~ ~ 30,00,000;~ ~-~ ~ cprt 25%; ~ ~ ~ 2,30,000;.

cnI4:(~(1 ~ ~ 2,80,000; ~ ~ ~ ~ ~ ~ 80,000 ~ t I

FSM-H P.T.O.
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-:II"1 fu1WT mn fu1WT

X Y Z A B

(WT 4,400 4,000 3,000 2,400 1,200

o/;-iI-Yl-dt.llcpr

() 4,00,000 6,00,000 5,00,000 1,00,000 2,00,000

lep(11C11c.em: 3,500 4,000 3,000 1,500 -

I-Sc.( 20 40 60 50 30

cnIRt.Il ctt 60 70 120 30 20

3Wffi 6

, 3Wffi 1O

3Wffi 8

2.4

ffi'q 25%
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3m ~ 1~k1I(1I~d qft TfURT~ ~ :
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(i) 3:ftm:r~

(ii) ~

(iii) 3:ftm:r~

(iv) 3:ftm:r~

(v) 3:ftm:r~ ~

(vi) 3:ftm:r~ ~

(vii) "f.Wf~

(viii) "f.Wf~

3. (~ 31~, 2011or2012~ 1~k1I(1I~d~ ~ ~.~.~. 1(1111~-S~ t : 12

~~.q.)

FSM-H
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T'

311fRf 311fRf

2011 2012 2011 2012

() () () ()

WffiT 50.00 55.00 "5.00 4.20

- 2.50 or'qCR 20.00 18.00
,

. 4.00 6.00 w:rnormfFt 22.00 31.00. "

ffi'q'-mR 5.30 6.70 IC4I-111 2.00 3.50

\.I«1IIC4d 8.00 11.00 8.60 12.70

2.00 1.80 10.20 13.00

3.50 4.60 1.00 0.70

q;r Cf)T 4.00 5.00 -q 7.20 8.90or .

3ffi FrrI1R 0.80 0.60

76.80 92.60 76.80 92.60
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3trct~~ ~T.4"1I~:

(i) CfIt~ ~ ~ ~ riR"ffiTffi ~ 2,80,000; ~ ~ ~ 1,70,000) CfIT

~ 1,50,000 -q:~ ~ I

(ii) CfIt 2011-12 ~ ~ Wtf ~ ~ 1:f{~ 3,00,000 (flIT ~ q 'qOFf 1:f{

~ 50,000 CfiT ~ ~ I

(iii) 01-11-2011CfIT~ CfiT "QCf1~ ~ IT<:JT(flIT ~ 1:f{ffi'q Cfftmr~ ~
-q: \if11T~ qTTft I

(iv) ~40,000~~~-q:~~~~ 15,000~~T*~~-q:~

t, m rGtr-1~141~ -q:\if11TM IT<:JTt I

(v) CfIt2011-12 ~~ ~ 2,50,000CfiT3Fffitq~~ I

(vi) CfIt2011-12 ~~ ~ 3,80,000 ~~~Tl<t I

3~t:

(A) cnI4~n~ ~ -q: ~RGtct-1Cfft~ ~ I

(B) 31~, 2012CfIT~ (RR:r)~~~ I

0f) r~~r~r(gd ftfcR"uT~ 4 ~ CfiT w:ITrr Cf>ffl~ ~ ~ 1:f{3i1'"1lf-1d<"ITI1~ ~- Cfft

l1UAT~, ~ fEf;80% ~ "[ant :

4

A<re-~ 0Cf)~ oq<:f

, ~ CfITlU ~ ~ 3i '1 '"If~d cqrcftoq<:f

~~

~

.. 8,50,000

1,70,000

15,30,000

~'"IIf'uldm 10,00,000

85,000m ~'"Ilfuid~"[31T

~~
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(31) ~ ~ ~ ~ 40 erR:~ ~ ~ CfiTw:rr:r ~ l-iq)~-i ~ ~1«1I~cn~ ~ 64.

1-iJ.""1Ii*il{f :

J:('qf'Q'

~Jmf~

~ I~~~
~ I 65 I 45

31<t-~ L 20 30
~ 15 15

w:rr:r~ : 2000 ~ ;

~Cfft~

~~:

(i) ~ BTTRf~

. (ii) ~ cnI4~~IM("\1~

(iii) ~ cnI4~;')-i~ ~

~

50

~

~~~

50

3530

20 I .10
~1«1f~cn~ : 1800 ~
-3i*iI~I...q cn14QI-i ~ : ~

~~ 2 erR:

(~) ~~IMf~~~ ~~ ~':IIIM("\~~cnB~~CR-mt~~~~ '
. 10

~I-i~lq ~ fmT *iJ..l1t1;("\~ \TITW ~ q;1~ I NM-AlorNJY1-A2~ ~cnf~cn

~~~~f I 1-i~f(1I~("\~~~Tf<:lTt:

~ CfftBTTRf

-3ii~lf-i("\ cnI4~~M ~1~-icnIM

~~ ~~ -31i~tI~("\crrm~

~ (Scrap)~ -31i~tI~("\crrm~

~ ~ Cfft -3ii~tI-i("\ -3i1("\~eMcrrmBTTRf

~~ ~ Cfft-3ii ~ tI-i("\ -3ifc'lI~eM crrm BTTRf

~ or {~{~I~ Cfft -3ii~II~("\-3if("\~eM~

BTTRf
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(~)

(~)

(~)

(~)

(~)

(~)

M-AI NM-Az

20,OO,00 25,00,000

5Cf\t 5Cf\t

7,00,000 9,00,000

60,000 1,00,000

30,000 90,000

40,000 50,000

45,000 85,000
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~ mm~ ~ ~ ~ ~ I f:rTq ~ ctr ~ 30% ~ ~ ~ ~ ~

12%~1

loil-ll(1l(9d cnr Y\'(c:tJ\1oi~ ~ 1~c:tJ0-I1cnr ~~ic:tJ'1 ~ :

(i) ~ ~

(ii) ~(9ic:tJoi(~~~

(iii) ('iIT1.t<;I<.Ic:tJdl~~c:tJic:tJ<:iTc@:rR ~ ~~c:tJicp(~ 1~~ c@:rR~ cnRCP@ 12%

0.893; 0.797; 0.712; 0.636; 0.567; 0.507)

5. (31) ~~ffi1ffi ~(9ic:tJ'1W1TWiTc);- 3i1~~~c:tJ ~ ctr~~O!:IT&IT~ I 4x4
=16

(~) 3=R'K~~~~?~~qmR~ I

("~) yrh~I(1'1(1f1ffim ~ 31ftf~ ~ t ? ~ ~ ~ mff ctr ~ t ?

(~ ~ ~ emAmfu;~ qRYf~ 1~"';I~1 ctr ~ ~ I

6. (31) loil-ll(1l(9d~31~, 2012 em~qrtc);-~~~I(1r~~~~~t:

~ -24,000~~200~~;

8

~-l1!m 3Ffmf 25% q w:r-~ ~ ~ cnr 50%.

~mff~~:

(i) qrt ctr ~ (1f1ffi

(ii) em c);-ft1Q'~ ~

(iii) ~ qrt c);-~ ~ 11,00,000cnr"CIiftrn'~ ~ ~ ~ \ifRCIWft~ I

(iv) (1f1ffiIf{ 25% ~ ~ ~ ~ ~ \ifRCIWft~ ctr~ I

(v) w:r-~ ~ em 4,000 ~ ~ COJ:f ~ ~ 3i1~~<.Ic:tJ ~ ~ ~
~I
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0f) 31~, 2012 CfiT~ ~ ~ ~ ~ r(1r~~~-;t ~ Bf1ffi~ ~ ~ 8

(35,400co1~mR~ I ~~ ~cpr~~-rnT~~~

( 67,800 2IT I Bf1ffi ~ (flIT~ ~ co1* ~ "tI(1~o{<\Yr~~.~1f(1r~r:1~ ~
3Wt:

(i) W~II~r-1<.f"1dYkoq~lcpr~ ~ClI(I~~ul"[3TfI

(ii) <.f"I1"'~111dYkoq~1cpr~-3iClI(IO~ul"[3Tf I

(iii) ~ Bf1ffi~ ~ q;11~ "[3Tf

(iv) ~~

(v) ~~~ :mRWR~mR~co1l1t 1

(vi) ~ CfiTmcrt:rR~ lFIT I

(vii) ~ ~ -q~~ \jj11T"[3TfI

(viii) ~~ cpr~ :

Bf1ffi ~
~~

(ix) ~~cpr~:
Bf1ffi~
~~

(x) ~ ~ ~"&nffi~yr(1r~r:1co1

(xi) Bf1ffi~ -qm ~ ~ cpr~ ~ <.f"I1~r1<.f"1~

(xii) ~ ~ -q~ ~ ~ ~ mcrt:rR

(

25,500

1,35,000

26,000

20,000

16,800

43,600

13,600

1,65,000
1,45,000

1,25,500
1,32,000

25,000

60,000

15,000

Bf1ffi~co1~mR~ ~~.~-q~~~~~~ I

H~r(1r~r:1-q~ ~ ~~~.~:7. 4x4
=16. ,

(31) ~'tfi1t~~q;:;p:f~ ~<.f"Ir:1~I<.f"I",ul r~o&l~ -q.lffl"~co1 rCl~"Cj-11~ I

0f) &frq"Cjl",u~~~mCfiT~, ~~1Ripftrm&(Cf~~~~t I

0") oqIYIR<.f"I~(flIT~~-q~~~ 1 .

(q) ~~~~~-~~t?

(~ "WT ~ ~ ~ &fI"qf{cpr rCl\1I~-1wrnT co1~ 1:1mffi" t I" ~ -qO!U&IT

~I
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